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(Part A) Uslo>
(Research Methodology) 623 AL 0%

-C@g@ﬁ’uwﬁ ------------------------ Hypothesis

Null and question form terms (B) Declarative terms (A)
Directional terms (D) General terms (C)

R LY S —— o Researcher {1 =32 Research Report ]

Must arrange it in logical, topical and chronological order (A)
Must not use the numerical figures in numbers in the beginning of sentences (B)
Must compare his results with those of the other studies (C)

All of the above (D)

< Primary Source$’ Data L/ufc;ui'dj Souu

Official records — governments’ documents, information preserved by social religious (A)
organizations etc

Personal records, letters, diaries, auto-biographies, wills, etc (B)

Oral testimony of traditions and customs (C)

All of the above (D)

LaL“U{»(- ---------- ¢/ Infer & Total Population Basis Z Observations L’)Lﬁ{Sample LL;”.’LQ
inductive inference (B) deductive inference (A)

pseudo-inference (D) objective inference (C)

?Lgt“nufdu/ Hypothesis Formation = Cases u(c;uf.'J: Souu

Experimental studies (B) Investigative historical studies (A)
Survey studies (D) Normative studies (C)
_‘a&//lmplyi/ ------------------ Reliabilityd/Research Result u’(

Verifiability (B) Validity (A)
Usefulness (D) Uniqueness (C)
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_Q/'/Calculate J/ Geometric Mean £ 1,3,9,3
2 (B) 3 (A
4 (D) 1(©)

-Q/'/Calculate :’/Mode ss1 Mean, Median ¥ Set ) 5,8,12,17,12, 14,6, 8,12, and 10
10,12,11 (B) 11,12,10 (A)
10,12,13 (D) 11,12,13 (C)

Vowel Jﬂu/ Calculate ¥ Number LWays LL/Arrange 4 Words £ 5 'DANGER’
-<s240dd Place .«g

48 (B) 36 (A)

96 (D) 144 (C)

?‘alnitial Mandatory Requirement Vuf;uﬁ'@‘:’@:é&L[Pursue Z T:(Research
Formulating a research question (B) Developing a research design (A)

Formulating a research hypothesis (D)  Deciding about the data analysis procedure (C)

<t Closely Connected « Stage J/ Z_Research u’( Issue § 'Research Ethics'
At the stage of data collection and interpretation (A)

At the stage of defining the population of research (B)

At the stage of problem formulation and its definition (C)

At the stage of reporting the findings (D)

Reason (R) ng Assertion (A) Vg-ugéfg:Statements »ui'd: BRI

Assertion (A): Research ethics and its observance are necessary for the interest of credibility and

quality of research.

Reason(R):  The policy-making bodies have to be accountable for pursuing research with an eye on

promoting excellence.
-Q/Select /.,b?édc; J-Options éfg:éuﬁd%/gfatyéfggﬂ
(A) is false but (R) is true (A)
(A) is true but (R) is false (B)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A) (C)
Both (A) and (R) are true and (R) is the correct explanation of (A) (D)
3
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‘e 'NOT True' L Utf soue

Schedule method is costly as compared to questionnaire method (A)
A questionnaire is generally filled up by informants (B)

Identity of respondent is usually known in case of a schedule (C)

Identity of respondent is known in case of a questionnaire (D)

Closed-ended Questions.s/ Open-ended “iLL/CoIIeCt/Data U~Research u’( Researchers

fe_=.sStatement Vufz_uﬁ’ J: 5g/p_u32,/dl:»"“! K

Open-ended questions directly provide quantitative data based on the researcher’s (A)
predetermined response categories

Closed-ended questions provide quantitative data in the participant’s own words (B)

Open-ended questions provide qualitative data in the participant’s own words (C)

Closed-ended questions directly provide qualitative data in the participants’ own words (D)

_Latlgguﬁ}Control 4Variab|es ui’Jfo.(LaL“/u.LffCurrent Situation -
Descriptive research (B) Analytical research (A)

Distinctive research (D) Applied research (C)

-<Hypotheses Development LLf-a:Hypotheses Testing 42 Kl
Diagnostic research (B) Laboratory research (A)

Empirical research (D) Exploratory research (C)

_LaUsefuI “ii/g‘fSoftware Uls Anti-Plagiarism uﬁd?i.’/f

Avoiding plagiarism (A)

Getting comparison or similarity index to check the originality of the assignment (B)
Added Features like instant feedback to help improve writing (C)

Do not find useful for any of these (D)

?‘a;!/gc;’&”/?Critically S Research Paper u’(

Taking an opposing point of view to the ideas and opinions expressed (A)
Skimming through the material because most of it is just padding (B)
Evaluating what you read in terms of your own research questions (C)

Being negative about something before you read it (D)

4
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.............................. crebrini 6t/ )1y Multi-stage Cluster

The population is widely dispersed geographically (A)

You have limited time and money available for travelling (B)

You want to use a probability sample in order to generalize the results (C)

All of the above (D)

_‘at”/ Refer S 'data processing error’

Activities or events related to the sampling process, e.g. non-response (A)
Faulty techniques of coding and managing data (B)

Problems with the implementation of the research process (C)

The unavoidable discrepancy between the sample and the population (D)

_‘a&CJHeIp ------------------------ # Researcher .QLL/JL&I Snowball Sampling
Access deviant or hidden populations (A)

Theorize inductively in a qualitative study (B)

Overcome the problem of not having an accessible sampling frame (C)

All of the above (D)

_‘a&nlnfluence Lo e Choice d/ Research Design
the nature of the research problem (A)

the audiences for the study (B)

the researchers’ personal experiences (C)

all of the above (D)

?Lat[ 'Grand Theory'

One that is highly abstract and makes broad generalizations about the social world (A)
One that was proposed by one of the major theorists in the sociological tradition (B)
An intermediate level explanation of observed regularities (C)

A particularly concrete theory that makes the researcher feel happy (D)

.20
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?‘at”ny/First Stage «— —~§ 'Systematic Review' ,g

Define the purpose and scope of the review (A)

Assess the relevance of each study to the research question(s) (B)
Appraise the quality of studies from the previous step (C)

Survey all of the literature contained within a single library (D)

e — Latin Word & Plagiarism

Plagiurius (B) Plagiarius (A)

Plagiarize (D) Plugiarius (C)

_LaCJ:/'/ Lead S Plagiarism

Suspension/termination from a job (B) Retraction of your published paper (A)
All of the above (D) Rejection of thesis (C)

_Lat“/'/lndicate:(- ---------------------------- Measure § Central Tendency

Retraction of your published paper (A)
Suspension/termination from a job (B)
Rejection of thesis (C)

All of the above (D)

*‘ugé/ Solve &ff Problems 2+ Society 7Tc;Capacity d/ Researcher .,g
Eradicate unethical people from the society (A)

Request the research institute to form a body of members for solving the problems (B)
Participate in the activities of a suitable NGO to help in fighting the problems (C)

None of the above (D)

s Null Hypothesis 4
The assumption that a significant result is unlikely (A)

The assumption there is no relationship or difference between the variables you are testing (B)
The assumption there is a relationship or difference between the variables you are testing (C)

The pattern between the variable you are testing (D)

24,
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?‘awwwé‘/ Tippet's Table
Simple Random Sampling (A)
Convenience Sampling (B)

Snowball Sampling (C)

Interval Sampling (D)

—g-bb 1A il T‘..J"g/ Series 34

14, 28, 20, 40, 32, 64, ?

56 (B) 52 (A)
128 (D) 9 (C)

Statement: Should India make efforts to harness solar energy to fulfil its energy requirement?
Arguments
l. Yes, Most of the energy sources used at present is exhaustible
I No. Harnessing solar energy requires a lot of capital, which India lacks in
-<-Strong &E{Argument VufﬁiLStatement éfg:
Only argument Il is strong (B) Only argument | is strong (A)

Neither | nor Il is strong (D) Either | or Il is strong (C)

-ugég;éWords i:ééTranslate <« 'Artificial Language' u’(
moolokarn means blue sky

wilkospadi means bicycle race

moolowilko means blue bicycle

€ Lo K "racecar’ ¢ Language (§'

spadiwilko (B) wilkozwet (A)

spadivolo (D) moolobreil (C)

Ky ORIy Sy S P
40/20-5*10+5="7

165 (B) 170 (A)

175 (D) 150 (C)
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Zoya # 3°_zOnly Son Zfather-in-law Hyder  « Father Asif Z Fatima" ‘La(}'ffAsma A
?LaReIation gﬁ; Hyder K Tos— ‘aSister JFatima

Sister (B) Wife (A)

Daughter (D) Grand-daughter (C)

(§9:64,000 (sl U4% Telugu -2 L£60% Hindi 307 25% English LU U s sl
?‘aQ?/Total Quantity JU}{L:@i' Book Stall -t % Languages
3,20,000 (B) 2,56,000 (A)
4,50,000 (D) 6,40,000 (C)

Rs. 800 ..{'/;Ui’EndLJl//;LbaRatio 3:2 ¥'Expenditure £ sl 5:4 < Ratio §'Income Bl A

= s Gu TJA Yo Ul

Rs. 1700 (B) Rs. 2000 (A)

Rs. 2200 (D) Rs. 1800 (C)
?‘aé’(d/c;d/’gf- ----------------------------- Classification ( Libraries JfJ/"

UNESCO (B) IFLA (A)

INSDOC (D) UNISIST (C)

- TOOl LI RSS Feed

Web Designing (B) Web 2.0 (A)
Middleware Architecture (D) Web 1.0 (C)

?‘nggdlﬁ:'“’{ 'Controlled Group' e

Historical research (B) Survey research (A)

Experimental research (D) Descriptive research (C)

= e Ontology

Classification of Internet based documents (B) An Indexing Method (A)

Documentation service (D) Cataloguing of Internet based documents (C)

.35
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?‘a(é; Statements (Statement Lzu/:_ e Jn Soskt

SI: The decimal number 11 is larger than the hexadecimal number 11
S2: In the binary number 1110.101, the fractional part has the decimal value as 0.625
S2 Only (B) S1 Only (A)
Neither S1 nor S2 (D) Both S1 and S2 (C)

?% L/u/ Feature (? le —~_~Features Jn jouxsJ« Qualitative Research Paradigm
Data collection with bottom-up empirical evidences (A)

. Data collection with standardized research tools (B)

.Sampling design with probability sample techniques (C)

Data gathering to take with top-down systematic evidences (D)

Negative éi'Research Ethics' Lu% ‘Q/ Identify J/ Set 1« List Jn 5@/:0/ Statements

-t Implications

42

43

44

1. A researcher critically looks at the findings of another research.
2. Related studies are cited without proper references.
3. Research findings are made the basis for policymaking.
4. Conduct of practitioner is screened in terms of reported research evidences.
5. A research study is replicated with a view to verify the evidences from other researches.
6. Both policy making and policy implementing processes are regulated in terms of preliminary studies.
II, Il and IV (B) I, 11and 111 (A)
I, Il and V (D) II, IV and VI (C)

Uz 215 151155 o o br i AU Left eI Aoe e S AS Right 10 w12 T 10
?Lawli'fz_ Starting Point &—/os-<

15m (B) 20m (A)

5m (D) 10m (C)

‘Certainly True Je ufz_ui’Propositions J::‘,yp_‘aw'All thieves are poor' proposition /;!
fe CJ:Lgl[CIaim

Propositions:

.Some thieves are not poor (B) . Some thieves are poor (A)

.No poor person is a thief (D) .No thief is poor (C)

45
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------------------------ wk§ Male and female students perform equally well in a numerical aptitude test.”

_Lat“/'/lndicate S
directional hypothesis (B) research hypothesis (A)
null hypothesis (D) statistical hypothesis (C)

LLecture 4Q.Q£Certain Topics £ Educational Nature S Audience !/Academicians_,e

N —— = e tblikd Lz s Presentation
Training Program (B) Seminar (A)
Symposium (D) Workshop (C)

- Average Marks '45' Z Half Students -t Average marks '65' L Class d/ 40 Students
-(J¢ Average Marks LRemaining Students

60 (B) 85 (A)
65 (D) 70 (C)
-t L sSubdivide (a-ee Further 2<tblS Divide % Tracks J Hard Disk I
Sectors (B) Clusters (A)
Heads (D) Vectors (C)
Part B:

Computer Science
TS —— {1 Proposition (= O)A(Q = P)
contradiction (B) tautology (A)
Absurdity (D) contingency (C)
7 O Antecedent _,ebaFaIse Uy 13~ Conditional
False and the consequent is false (B) True and the consequent is false (A)
False and the consequent is true (D) True and the consequent is true (C)

?Lawlégd/ In-order Traversal £ Binary Search Tree
It traverses in an increasing order (B) It traverses in a non increasing order (A)

It traverses based on priority of the node (D) It traverses in a random fashion (C)

10
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G ssIReflexive, Transitive, Partial Set &' Relation ,g
Antisymmetric (B) Bisymmetric (A)
Asymmetric (D) Anti-reflexive (C)

?Lay/NuII Graph

null graph has no odd vertex (B) A null graph has no nodes (A)
null graph has no even vertex (D) null graph has no edges (C)
= ¢/ Achieve J/Activity u’(ui'ldeal Circumstances = Shortest Possible Time
Pessimistic time estimate (B) Optimistic time estimate (A)

The most likely time estimate (D) Expected time estimate (C)
_La.w;/’d/ROM ------------------------ L LS implement ¥ 4-bit Multiplier i

128 bits (B) 64 bits (A)

2 Kbits (D) 1 Kbits (C)

= s Drawback §2__/ Build J/Large Memory .@L/’UL’J”!DRAM

The large cost factor (B) The Slow speed of operation (A)

All of the mentioned (D) The inefficient memory organisation (C)

X'y' + Xy + X'y -Q/Simplify 4 Boolean Expression J::’Zw

x+y(B) x4y " (A)

x'+y (D) x+y (C)
-LaL”Lgt[Perform AT\ Binary Multiplication
1(B) 2(A)

3(D) 4 (C)

-Jn ------------------ Length d/Word ﬁ?+64—bit Machine .@System Jm
8 bytes (B) 4 bytes (A)

12 bytes (D) 16 bytes (C)

11
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_Lat“/'/HeIp ) Normalization

By minimizing redundancy (B) By eliminating various database anomalies (A)

All of the above (D) By eliminating data inconsistency (C)

Data “iLRetrievaI J«Case L Data Loss “aFunction (7S U~ MySQL Architecture
-t/ Maintain fCopiesL

Buffer Manager (B) Transaction Manager (A)

Query Engine (D) Recovery Manager (C)

< Correct “&L Full Outer Join uy.t/u/guﬁd;@p

It takes all tuples in the right relation that did not match with any tuple in the right
relation, pads the tuples with null values for all other attributes from the right relation,
and add them to the result of the natural join.

The left outer join takes all tuples in the left relation that did not match with any tuple in
the right relation, pads the tuples with null values for all other attributes from the right
relation, and add them to the result of the natural join.

It pads tuples from the right relation that did not match any from the left relation with
nulls and adds them to the result of the natural join.

It pads tuples from the left relation that did not match any from the right relation, as well
as tuples from the right relation that did not match any from the left relation, and adding
them to the result of join.

-ugi/'/Conclude i/ ---------------- (?c;lnstanceJ:;',?/pL Relational SchemaR (A,B,C)
A B C
1 1 1
1 1 0
2 3 2
2 3 2

'A’ functionally determines ‘B’ and ‘B’ functionally determines ‘C* (A)
'A’ functionally determines ‘B’ and ‘B’ does not functionally determine ‘C* (B)
‘B’ does not functionally determine ‘C* (C)

"A’ does not functionally determine ‘B’ and ‘B’ does not functionally determine ‘C* (D)

12
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Functional Dependenices 'hold’ J;’gzﬂuﬁf&/@% Relational SchemaR (A, B, C, D, E, H) ..g
{A— B,BC > D,E - C,D — 4} ¢ i/ Candidate keys ZR' -t/

AE,BE,DE (B) AE,BE (A)

AEH,BEH,DEH (D) AEH,BEH,BCH (C)

_L“/'/uf.’fPreserve 4 Non-matched Tuples J/ Operation s,
Inner join (B) Left outer join (A)

Right outer join (D) Natural join (C)

With max_budget (value) as

(select max(budget)

from department)

select budget

from department, max_budget

where department.budget = max budget.value;

f<_ Temporary Relation Lzufc;uf.’dj;‘@:ui' Query éfg;{ﬂ
Department (B) Budget (A)
Value (D) Max_budget (C)

Complete w/u_,e_baui'"Suspended State" Z_»J_J Wait d/I/O Service u’(Process J/_»

~eblyState Process ,:?Lagl.m

Suspended state (B) Terminated state (A)

Ready state (D) Running state (C)
_Latlgglmplementifdlﬁ"! ------------------------ S Memory Protection ~Paged Environment
restricted access rights to users (B) protection algorithm with each page (A)
protection bit with each page (D) restriction on page visibility (C)
?LaCJ:lgt[Break PSS / Deadlock u’(

abort one or more processes to break the circular wait (A)
abort all the process in the system (B)
preempt all resources from all processes (C)

none of the mentioned (D)

13
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_La&nProbIem d/BeIady's Anamoly U< Page Replacement Algorithm L—UJJ/LU:J“):.?JA’-’
LRU (B) Optimal replacement (A)
Both optimal replacement and FIFO (D) FIFO (C)

?Lay/Dynamic Loading

loading multiple routines dynamically (B) loading a routine only when it is called (A)
none of the mentioned (D) loading multiple routines randomly (C)
_‘at“/Belong A Boundary Value Analysis

Black Box Testing (B) White Box Testing (A)

None of the mentioned (D) White Box & Black Box Testing (C)

¢« Fullform ¥ COCOMO Model

Constructive Cost Estimation Model (B) Cost Constructive Estimation Model (A)
Constructive Cost Estimating Model (D) Constructive Case Estimation Model (C)
-(13 Nodes #/17 Edges Lgﬁta ------------------------ Cyclomatic Complexity JModuIe.@

5(B) 4(A)

6 (D) 7(C)

Serious Hazards »3./2 %cu’ e ./ Removes Defects %< Process Model A —

_ug/Precipitate S

Incremental model (B) Cleanroom software engineering (A)
Agile model (D) Spiral model (C)
~tTotal Phases -ovveree J~ RAD Model

5(8) 4(A)

6 (D) 3(C)

-‘at“/’/ Refer ¢ internal software quality
Scalability (B) Reusability (A)
Reliability (D) Usability (C)

14
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?ugLnJW'“iLPurposes J:; Ui 3o "Parity Bits”

To transmit faster (B) Encryption of data (A)

To identify the user (D) To detect errors (C)
_‘at“lgla'?u’ L R Private Keys _~ Asymmetric key cryptography

Receiver (B) Sender (A)

Key Distribution Centre (D) Sender and Receiver (C)

_,J/ux.(L“ngJ/Connectionless S User Datagram Protocol

all UDP packets are treated independently by transport layer (A)
it sends data as a stream of related packets (B)

it is received in the same order as sent order (C)

it sends data very quickly (D)

_‘am.ab;(- ---------------- 4 Process ! 'ready to accept a connection' LaL‘JM/J/TCP u’(Sen/er .@
Active close (B) Active open (A)
Passive open (D) Passive close (C)

ugi/Process J/Datagram J'Routers Z maximum, 10 ‘aVaIue JTTL Field
5 (B) 11 (A)
1(D) 10 (C)

?‘at”ndlr?"ww/uﬁCompiler < (J~Concepts J:;‘,?/pLFSA
Code generation (B) Code optimization (A)

Lexical analysis (D) Parser (C)

?9t@gJW1“iJ/Symbol Table .,.Quf.' Compiler Design
Type checking (B) Finding name’s scope (A)

All of the mentioned (D) Keeping all of the names of all entities in one place (C)

?‘at“/COde Generate “iLMuItipIe Machines »slc C’lg{Machine _,QCompiIer VU/
Cross compiler (B) Multipass compiler (A)
Onepass compiler (D) Optimizing compiler (C)

15
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f_» €' Syntax Analysis =Phase /LCompiIer .88
Third (B) First (A)
All of the mentioned (D) Second (C)

?‘Luﬁ’fRegular L/u!:;ui"f“;’,yﬂ 89.
String of )’s which has length that is a perfect square (A)
Palindromes Consisting of 0’s 1's (B)
String of 0’s whose length is a prime number (C)
All of the mentioned (D)

J/J'-‘at“nui’Language L' % string 'w' &;L/'/Apply /Pumping Lemma ;Langauge u’( 90.

-LaL“Lgy/Divide o Parts oo !/String u"-ugL/Consider
5() 2(A)
3(D) 6(C)

?L“nuf.’f under ‘closed’ L‘f/ui'dj:‘g/pContext Free Languages 91
Homomorphism (B) Reverse (A)

All of the mentioned (D) Inverse Homomorphism (C)

?‘at“lgl.{UW'“iLitﬁFactorial ¥ Number u’(Recursive Formula L/ufc; Uid:’».’//"“‘ 92
fact(n) = n * fact(n+1) (B) fact(n) = n * fact(n) (A)
fact(n) = n * fact(1) (D) fact(n) = n * fact(n-1) (C)

?L“/’/uf."f' K{Principle Zinternal Sorting L«ufc;uf.'J:;’,?/p .93
bubble sort (B) insertion sort (A)

merge sort (D) heap sort (C)

?Lal[Time Complexity d/Binary Search .94

O(2n) (B) O(log n) (A)
0(n"2) (D) O(n) (C)
= s 4 Kruskal’s algorithm .95
greedy algorithm (B) divide and conquer algorithm (A)
approximation algorithm (D) dynamic programming algorithm (C)

16
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?L“ngu.?}Solve L/UW'Dynamic Programming ﬁ'{Vufa;uﬁJngﬂ

Matrix chain multiplication problem (B) Fractional knapsack problem (A)
0/1knapsack problem (D) Edit distance problem (C)
_‘at”/Reduce A Dimensionality Reduction

stochastics (B) collinearity (A)

entropy (D) performance (C)

_‘at”/Represent J/GradeLStudents U-College u’Z"LCJ:L Value A,B,C,D,EF ‘ Feature 'F'.,g

— e Feature Type Uly,
ordinal (B) nominal (A)
Boolean (D) categorical (C)

- Applications LSupervised Machine Learning c;ufc;ui'dj;‘,yﬂ
Bioinformatics, Speech recognition (A)

Image classification, Real-time visual tracking (B)

Autonomous car driving, Logistic optimization (C)

Spam detection, Pattern detection, Natural Language Processing (D)

Backward & Hidden Layers s/ Input Layer < Output U e Network gl

-t Lnlinks
Perceptrons (B) Self organizing maps (A)
Recurrent neural network (D) Multi layered perceptron (C)

YAQA Qe
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